14 . B w35 M. 9% F = W ¥eq T

ﬁ,mﬁmﬂmm@mq@rsomwm.

—ﬁ

The cost of a solid cylinder of radius 14 m ap4
height 3-5 m, when the cost of its metal is 7 5

per cubic meter, is:

(1) ¥1,07,800 (1) ¥ 1,07,800
(3) ¥ 1,09,800 (3) 7 1,09,800
" (4) T 1,00,208 4 < 1,00’208
(5) I TE 3 A" L}
(5) Not attempted
2. A3 T 38,000 T N NI AN far | 5 HTE % (2. A started a business investing ¥ 38,000. After
W?55,000ﬁ'i§tﬂmﬁB§Tﬁmwmﬁ 5 months, B joined him with a capital of
wufFm I Famy ¢ 22,000 T FA &Y 73 | T 55,000. At the end of the year, the total profit
= d @ St o A 3 B ¥ wm ¥ e — was T 22,000. Which out of the following is the
HEAHR? : approximate difference between the shares of
(1 1,192 pmﬁts of Aand B ?
1) ¥
(2) <% 1,857 i hoAR
2) T
(3) 1,928 W ekt
3) .¥1,928
(4) ¥T1,007 o
(4) ¥1,007
(5) IR I 1 9
(6) Not attempted
3. 3If} uw g 20% o™ W A=A W, @ fe F A S 3. If an article is sold at 20 percent profit, then
TH 30 Y 74 3R fasha g o 3rquma 2 2 which of the following is the ratio of its cost price
‘(1) 5:6 to its selling price ? ¥
(2) 6:5 (1) 5:6
(3) 11:5 (2) 6:5
(4) 5:11 (3) 11:5
(5) It & =TEd : r (4) ,5:}1
o (5) ' Not attempted
& I!'EF W T 18,700 W &= q.;, ﬁ;ﬁ '"WIE”; :: 4. th;n a plot ié sold for ¥ 18,700, the owner loses
15% I mﬁ '@I?ﬁ'a ' 15% E‘N i | 15%. At :what price must the plot be sold in order
Fmdag? Sy . £ togain 15%?
AD29B00,  Fw  pp koA T EH @ 7 22500
(2) ¥ 25300 d ' (2) % 25300
(3 T2580 . (3) T 25,800 i
(4) 21,000 (4) ¥ 21,000
(5) I & M =R (5) Not attempted °
RAMA/D1/Page 2 T w14 % f¥10 ¥ / SPACE FOR ROUGH WORK
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o deand § | A weel % sitad W@
h-foetd, wed o vem @ 8 W R | wEd B den
m@ﬂma‘mmmmailmaﬁ
qET TR ? .

(1) 10
2 1
3) 14
4 9

(65) IMIAFMEE

(:31331 x 3216 +:3729.+§/6_4) W'B >y
(1) 179 : s
(2) 14-82
(3) 9088
T4 1362
. (6) I T W

mx%mw.mﬁr%'laﬂwmﬁvﬁqﬁ
s 3:3: 3L
%lmﬁamm-ﬁmﬁmﬂmé\ﬁﬁaﬁq
ﬁaﬁmmaﬁ@fmﬁmmﬁv

(1) T 420

() T512

(3) ¥ 599

(4) <358
(5) I AH & e

‘gfe A &t I, Biﬁmﬁlo%:ﬁﬁﬁé?mB#
.31, cammﬁzo%m% d #9@: A, B @ C

& o # s L :

(5) Not attempted

‘There are _f.hree positive numbers. One-third of
the average of all the three numbers is 8 less
than the greatest number. The average of the
smallest apd the second smallest number is 8.
What is the greatest number ? - '
(1) 10 ' :

(2 11

3 14

4 9 - ';."'

(Y1331 x 9216 + ¥729 + Y64 is equal to :
(1 79 S B :
(2) 14-82

(3) 90-88°

4) 1362 :

(56) Not attempted

. Mr. X has some money with him. He has to

distribute this money among five labourers in the

ratio%:%:j:-:%'% Whatistheminimum

amount he should have, so that each labourer

gets an exact number of rupees ?

(1) T 420 _ :

@ T512 S G L

3) %599 '

(4) ¥ 358

) Not attempted
3

L4

If the income of A is 10% more than that of B andi

‘the income of B is 20% less than that of C then

the incomes of A, B and C, respectnrely, are in
the ratio :

(1) 22:20:25 () 89:20:96 (-7 TS e
2 10:9:7 « By 103937 o 4
(3 22:18:25 (3) 22:18:25
(4) 11:10:8 (4) 11:10:8
&L (B) SW q‘é’fﬂmm y : .(.5) Not attempted |
W | T @ 3 forg T / SPACE FOR ROUGH WORK 3

e .
]
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The traffic lights at three different signal poin

. T% &4 & foTQ T / SPACE FOR ROUGH WoRK

9. o faftm 2w wmsgy, Gh ﬂhﬁﬁﬁ femrer fégadi w (9. 45 seconds, 75 second
@t & F: 45 Ao, 75 JhT auT 00 Jhe H 4| - change after every 8 ar
_ : >, .90 seconds respectively. If all chan
woer @ & | 4 7@ o w7 20 ;15 R W -
i@ S simultaneously at 7 : 20 : 15 hours, then they w
gt 3"";' e fohe o9t U |19 wEeiT ? next change again simultaneously at :
O} . e (1) 7:27:45hours :
(@), 7:37:80% (@) 7:27:30 hours
) 7’27:_-50?3 . (8 17:27:50hours
(4) 7:28:00%2 (4) 7 - 28 : 00 hours
. B IR I | (5) Not attempted
10. aﬁwaﬁiﬁr_mw%mmwmw 10. The sum- of two numbers is' 45 and thei
gal \rT 8 | HEmnsi - LCM®2: difference is one- mnth of the sum. Then thei
- (1) 150 ’ ' LCMis:
(2) 200 (1) . 150
(3) 250 - (2) 200
4) 100 (8), 260,
(5) T ¥ e oM M
(6) Not attempted
11. ﬁstaﬂum%aﬂty,x%maﬁﬁwﬁrﬁ L o K
| ¥ wew = ‘@l ar ) 11. If,x'ls a 3-digit m;unber am.i .y is a If'l.lmbe]
i B ae e : obtained by permuting the digits of x in anj
3 ﬁqﬁ'ﬁ"“ e manner, then (x —y) is always divisible by : -
1 6 L 6
2 9& @ 9
(3 12% 3 12
@ 43 4) <
(5) I 7 ¥ W (5) Not attempted
12. - Frer e ' 12, 'I‘helt1 closest appromma.tmn “of the followmg
5 _ : pro uct :
K 0335:;;}25»<0499x0125x24 - 03333x025x0499x0125 24
ﬁﬁzﬂq 18 @ e
3 . : 3
) S . i
w 2 T
3 3 |
2 = 2
)_ 5 (2) 5
g _
@ = ® 2
5 ) 5 ¥
1 & 1
4 = 4 =
8 8 _
(6) IR & 3 =R (5) Not attempted . -
RAMADD1/Page4 = 00
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/

18. T yOfy wuwer s W7 a9 § g @ S @

T8 fra a1 # s @ St 2
2194

38 o

42 a¢

18 9§

IW AE T 5TER

(1)
)
)
(4)
(5)

& A AR dew frw g w1 @ w7 .

13. A sum of money at simple interest doubles in

7 years. It will become four times in :
(1) . 21 years

(2) 38 years
(8) 42 years
(4) 18 years

(5) Not attempted

14.
0 B 3 14. A man and a boy together can do a certain
-nﬁ{ N THd § et I g FA A amount of digging in 40 days. Their speeds in
HIIE 8 : 5 R | AR AH B et WeH & " digging are in the ratio 8 : 5. How many days will
mmms?ﬁaﬂ%ﬂ?ﬁﬁﬁﬁﬁﬁﬁwaﬂ the boy take to complete the work if engaged
qraT ? alone ?
(1) e8fm (1) 68 days
2 sofe (2) 80days
(3) 104 fe (3) 104 days
(4) s2f@ (4) 52days
(5) I TE & e (5) Not attempted
15, 7 126 f el 7o <. 135 SR B R T (15 Teq worth = 126 per kg and T 135 per kg are
% wHR B S dwd THH 9 F 1:1:2 F mixed with a third variety of tea in the ratio
s 3 foremn | AR fm w1 gew T 158 1:1:2. If the mixture is worth ¥ 153 per kg, the
m%,ﬁmmﬁm-ﬂﬁmﬂ‘@ price of the third variety per kg is :
& (1) % 17000
T 170-00
D @ % 17550
(20 ¥ 17550
. (3) = 180-00
(3) T 180-00
(4) T 16950
4) ¥ 16950
(5) Not attempted
! (5) I A & ed :
B ——
. RAMA/D1/Page 5 % % & f7Y T / SPACE FOR ROUGH WORK T
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16. Frfifen & & fre wifRs w1 wim et & e ifaotricdl switdhesi?
T & forg e e & 2 .
1) d@ o . Eukitg
(2) dbege ~ (8) Teflon
@) TwH (4) Polythene
(4) ifeaef (5) Not attempted
(5) I TE T =R
1 o e o ] . Yk e o o e P S
bl (1) “Meditation Replaces Medication”
1) “Ga A s ar” @) “Medication Without Harm”
@ "o, Rt g (3 “Health With Yoga”
@) e % wy g (4) “Health Without Medication”
@ “@we, fam g’ (6) Not attempted
(5) I T T =R
g & A g bt g | L 1 e 2o of el pllg 7
3R wgadf, werER aun Hw ‘éﬁﬁ ? _ Perennial, evergreen and woody ?
(1) R - (1) Angiosperms
(2 AMeSwma (2) Pteridophyta
(@) FEEe (8) Bryophyta -
@) P (4) * Gymnosperms
5) 3 T T (8) Not attempted
19. shafes ¥ wwa 3 @ 1900 & S 2020 T fra |19, In Olympics, Ingia phag won the maximum
oyl § watfirs w 9SS S & ? : n.umber of Gold Medalg under which category
D Since 1900 to 2020 ?
(1)
Bl () :::;
@) Fwh ,
3) Wrestling
4) fFemesh - @ Shooting
© I e ®) Not attempteg
RAMA/D1/Page 6 T ®rd & e T/ SPACE Fon ROUGH WoRk
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16. Which of the following plastics is used for m:
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20.

21.

1 ‘h'lf'

(D

Fr=fafen # @ swm s ghed fed smeleerr
FaATHE?

(D) ¥’ 39 W Iverey YRAF GEEA F T @ T
(fedfr) w2w smar g 2 1,

TR e T A 9 o g I R |

T’ T e @y ¢ e g Jead & 9w
e it 3= 7l T TEEn 1 T |

T Frrdi #1 w wge ¢ e g 38 w e
4 93 30 39 ¥ Y v P o wwAR
ST TE S wEd

(2)
3

(4)
(5)

T, fa e g 6 A e seEo § 2
(1) T T '

(2) HiRER

(3) wEETA

4) ud 9

(5)

IR FET &1 =T

frferfian § & @ gt = 2 75 seRe | w@
e (Ffed) aun fawaeda @ ?

(1) SREE R

) e fEaEd

(3) REEFRH

(4) wEEE ShH

(5) e A€ 3 =

frfrfiad o @ HH-81 GE 57 8 7
e > Frdge > Hane > frmae

(2) UFETETEE > fermse > ¢ > frmemge

(3)
(4)

20. Which one of the following statements is correct

21.

22.

23.

(3)

(4

(4)

about Uniform Resource Identifier (URD ?

(1) It is a unique address or path for each

‘resource located on the web.

(2)

It is a unique value associated with a
network adapter. :

It is a unique address that can be used to
uniquely identify each node in a network.

(4) It is a set of rules which is used to retrieve

linked web pages across the web.

(5) Not attempted

Google, Bing and Yahoo are examplesof ______
(1)
(2)
(3)

Mobile Applications
Software

Firewalls

Search Engines

(56) Not attempted

Which of the following is used to ensure accuracy
and reliability of data in the database ?

(1)
(2)
3

Database Constraint
Data Dictionary
Database Instance
Database Schema

(6) Not attempted

Which of the following is the correct sequence ?

1) Megabyte > Kilobyte > Terabyte > Gigabyte
(2) Exabyte > Petabyte > Terabyte > Gigabyte
(8) Petabyte > Zettabyte > Gigabyte > Terabyte
(4) Kilobyte > Petabyte > Yottabyte > Megabyte
(5) Not attempted

% @14 & foTe T / SPACE FOR ROUGH WORK
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RAM

24
. m %; v
(a) W F W i § Pt
W 101 ' 24.
s ) HEE Brew o Which
w0 Ry among th
(b) wRuE g $ wfr 3 ¥ et oft ;‘;rrect Sith 1% ali‘dfa.]](].‘,m]lg g
fom e fivck Wi ooaTC e
Faa onst the ts
© afau: T R | i @ < Pasll itution ? amendment is/are
gt  fadas ke part :ﬁl‘:}lm has the pow "
B b 3‘3‘@ +: H i ﬁq (b) A Consti 4 qnnsﬁtutviOn er to amend
faw my AR ™ F e except f an
wI L " o e g g or Part II1.
(1) aﬁﬂ ﬁm a | () uced in th endment Bi I1I.
@ (b) Ralid :ﬁﬁ-q The Consti o Lok Sabh i1l can onl
) ¥4 () passed ne:.?““"“al o a. y
(3) (a) aﬂ_{ Chﬂ_ose S the‘as se ment Bi
(b) be the corre nt of th Il onc
(4) (a) 3k ( low : ct option from t; President. e
(5) I ;“ g; Only (b) ' e codes given
o8 B 53 ed e ?ﬂly(c)
: a)ﬂn
il B b o Y i
(0. S AR FG T - Fermete
b)  HIE a; 25 attempted
(c) AT TS STRfEH . Which amon

Ftegfern . exam 1g the followi
@ = ple of ‘comin owing countri
= G es wnid be

ﬁqﬂwaa b USA atin? %

(2) (c) A ﬁﬁﬂl @ “Stra]ié

(b) 31‘( (d) beloose the coiieet ‘

a) (b) (1) ion ﬁ.om th o
6) IM (b) an e wdea

26 =red @) (a)and (c) i
PR Y ‘@ . ® and (c) s
ﬁ-&ﬂ__‘"‘ﬂmﬂiagf Bﬁlﬂaii Z7 ¥aw @ (a)zg(d)
( = ofi/eff 2 wmﬁm‘ '5) Not (b)
(:; 7 SIS Jaival gia (€) Pt 26. Which attempted :
v 191 P cn am Pl ey £ 2

L S o Subsidiary Alliance’ o y

© Fsﬂ‘ff;tglﬁ | T fafew af= British i mmﬁlhmce & Bgywaslwere feature(
it : IFel @) Itwasd nial India 2 stem’ devised b s) of

HHH EH b) A evised b y the
@ faf “E%Tﬁ arg B |y T Stat?ntlsh gl Lord Wellesley.

T qﬁﬁ . 9y ﬁ m ::-HT- f: (c) The U:lfd in the {en?t:hngent 5
ﬁmm@a E’ﬁﬁ'ﬂﬁ 3 s Wlthany could nev ry of the ally. to be
(1) Hel fa#eq (d) Th yotherml er get into
e (a) 3R (b) &1 4 HIAC : fr oe British wer ers. . agreements

(a), (b) 3K ¥ Cho m the inte e to prote
@) (a)a3ik () beqoose the COrrec:nalthreﬁtstoct the ally only
@) Fad @-. 1 w.: Optmn s power.

(5) W i (2; (a) and (b) i m the codes giver
i 3 =T . e g
4 o and (d)
p—— R
I SPAC ot attem g
EFO pted :
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27.

/ "‘ D1/Page 9

(1)

.ﬁsaﬁmmﬁmﬂaﬁmwm?

@
- ®

Vx

o

T 8 % suEw (ﬁ.wf.)'ﬁ’sﬁﬁﬁ% @B

o wge Yarte #, R 7t o i R
e & qon e @ qff @k o i A R W R,
@ wigert i e T s RE 2 "
(1) =m

(2) fafda @m

(3) wffem @m

(49 wem

(5) I TE 0 =T

WFT Y AR §9 Y I e 2
R iicsinet
LRGRIERu

~

@)
)
4)
(5)

mwmugaﬁmﬁamaﬂ 19191"11%58
(1

(2)
(3)

ﬁﬁ-ﬂﬂ?ﬁ-ﬁ_‘ﬁaﬁwm
e fog fovafere
T favafiaea
arefig Tfeem fvafames
e & &1 9

127.

28.

29.

30.

. (4)

In a Market Equilibrium figure, if the Demand
curve shifts leftward and the Supply curve shifts -
‘rightward simultaneously, what is the impact on
Equilibrium price ? : .

(1)
2
(3?'

Increases

Remains constant
‘Remains undecided
Decreases

(5) Not attemptéd

Selling off a part of the equity of a Public Sector
Enterprise (PSE) to the public is called

(1)
(2) .
3)
(4)
(5)

Dlsmvestment
Deli :rmtahon
Communisation
Nationalization
N ot attempted

India’s first nationalist art school was est.abhshed '\

“in which University in 1919 ?
BG))

Visva-Bharati University
Banaras Hindu University
Allahabad University

. Aligarh Muslim University-
Not attempted

(2)
(3)
@
(5)
Which of the followmg. waterways has been -

declared by the Government as the National
WaterwaysNW No.27?

(1) The Brahmaputra river between Sadiya
3‘!—* m Wf'ﬁ ¥ ﬁ-TH Wf qﬁ TR g | and Dhubri (891 km) :
W fmza;wﬁu’lﬁaﬁmw%" ' (2) The West-Coast canal in Kerala
___ ( A e P T (891 f5ih.) (Kottapuram — Kollam, Udyogamandal and
2 afean ; !S Champakkara Canals —205 knﬂ ,
- @ F@ # "_i A TR (I - g, (8) . Specified Stretches of +Godavari and
. zinmed 9 YR TR ~ 205 f6) Krishn i
- 4. a rivers along with
@) wEEE -G TR BE F we-aY e Kakinada — Puducherry Stretch of Can
' _ anals
- i o Afedt & Rifde wer (1078 fRR.) (1078 km) ?
(@) wmER v wfeem % qeg T ={a°T (4) The Ganga river between Allahabad and
(1620 F5.1A.) Haldia (1620 km) I o
3t 781 & =9E (5) Not attempted ;
T @Td % foTY T | SPACE FOR ROUGH WORK
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3. ‘Wz g W R _ g5, SrEfEEmAA W#WWWWa

1 3w ‘ 3 HifT |
@ W | | o e
L T - 2 s
@ - @) . s
(6) I e & e | O A
L | (5) v T 1 =T
32. ﬁﬂqﬁﬁﬁgﬁgmmmi : ;
(1).%133%,311-(@3{}" LR PR, vl e AR,
(2) qw’m'wwmmal 7 3( WW%WWWWWWW[
-(3).mmﬁ‘5lﬂﬂ?mast'€mﬁ-r%q; ' .(1), L A !
0, e W“mmmm% o
® TS S @ R
: ' @) T
6) I

o ‘ﬁmﬁmﬁnm@i’rgﬁgm. ,
aw W‘SW’ ﬁ@lﬁﬁl%maﬁmm

- IEHR B ? a1, m‘ﬁﬁ%ﬂzm.mmﬁﬁq-i
(1) SIH SRR i ‘ : ; A S
@) Maﬂm P @ R
3 Gémamm s e A ——

g w%m L R @ i

(5 mwﬁhm@ @ W‘"ﬁ%mama
34, ﬁqnqﬁ:amﬁ‘squ’a;raqgmm%mw Ve

29 ' \ e _

L "_‘?‘ ‘mwmﬁwéﬁaﬁmﬂm: .

@ O ma

@ T™ L RN

4) T : @ 79k o

NORELE T Y W smwgm g

A (5) mqﬁhm
RAMA/D1/Page 10 w & forg e/ space Fonnoueuwon,( T
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89. 9 HA-H WA UK & N IR IS ¢ N o= (43, FwF R e R
e e W= Wl e Pt 1 AT |
d (1) sftat
(2) M
3 2 (2 #=H
4) # (3) IW
(5) IO 7@l & WA @ A
. (5) IR T & =R
40. ‘HTE-URE 1 YH AT e H e
(1) wgd Irwet g
63 gl B |
i 44, fu mu fhg I 3 =R s 1 Taifes 39gw T
(3) M-I UER H I T A ,
: - BAIR? C .
(4) wgd TR '
(5) I T TR (1) gmERAInIFTER |
@) % e 3 4 o w0 R |
4, T v T e E @) AfaAGIAFE) .
(1) = 3k fmn 4 MIam@HA IR 1
(2) Hal 3 e 5) mqﬁhm :
(3 = 3k faiyor :
(4) vy iR fagg
(5) IR g & <Ed |
45. 3 TfY &1 IgEw 777 R
‘ ' % (1) vegET
42,  frafafa fawedl # aoam weg A ggam HfT |
' . (2) Ty
1 B
@ (3
ol @, I
4) <@ "
e © Wi sm 2 o -
- RAMA/D1/Page 11 - % w1 % férg Tur / SPACE FOR ROUGH WORK *""“"\-

Download from www.MsEducatignd VuGBeanner



486.

47.

" (4)

Choose the correct passive voice form of the
following sentence. ¢

Sheetal will have finished the work.

(1) The work will be finished by Sheetal.

(2) The work will have been finished by
Sheetal.

Sheetal will finish the work in due timé.
The work is finished by Sheetal.
Not attempted

(3)

(5)

Rearrange the following parts of a sentence
labelled as PQRS to make -a meaningful
sentence.

P. deedsistobe

Q. on to the future

50. Choose the alternative which best expresses the

51.

meaning of the underlined idiom.
Her speech is always full of tall stories.

1)
(2)
3)
(4)
(5)

heroic stories
exaggerated tales
realistic stories
long tales

Not attempted

In the following question, out of the four
alternatives, choose the one which can be
substituted for the given sentence.

“An apartment building in which each apartment
is owned separately by the people living in it, but

R. the power of noble R - containiug chared aress”
S. preserved and passed
(1) SQPR - (1) Multiplex
(2) PQSR " (2) Duplex
(3) RPSQ (3) Caravan
(0 ESQP. (4) Condominium
tte d
B e (5) Not attempted
. Pi 1 ord.
aa }:Ck 0; ; ;he canrelly Spe 52. Choose the word which is opposite in meaning to
(D WA R the word underlined.
(2) Outragous N y :
'(3) Outrajious “E quakes are frequent in Japan.
(4) Outregeous (1) unusual
(5) Not attempted (2) few
49. Pick out the part of the sentence which has an (@) s
error. If there is no error, your answer is (4). (4) extinct
The simplest method (5) Not attempted
A
of welding two pieces of metal together 53. Chposg the word which is opposite in meaning to
B the word underlined.
is known as pressure welding. “She is slender in ﬁgu.ré 2
C (1) frail
(LB (2) stout
(2 A
(4) No error (4) strong
(5) Not attempted _ (6) Not attempted g
RAMA/D1/Page 12 T % % foTQ TUT | SPACE FOR ROUGH WORK
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‘ Read the following passage carefully and answer
- guestions 54, 55 and 56.

;:’. India is one of the oldest civilizations of the world,
. which offers a kaleidoscope of cultural experiences. The
 country has a rich heritage and numerous attractions.
It stretches from the snow-capped Himalayan peaks to
‘the tropical rain forests of the south covering
32,872,263 square kilometers. It is the world’s seventh
largest country, distinguished from the rest of Asia by
- mountains and the sea which gives the country a
~ distinct geographical identity. India showcases a
~ variety of heritage resources crafted hundreds of years
~ ago from huge heritage sites to pristine sea-beaches.
Tourism contributes to substantial economic, social,
? cultural, educational and political development that
~ generates both direct and indirect employment.

=y
".l.

. b4

Find out a word from the above passage which
means ‘a country’s history, traditions and culture
etc’.

(1) Theritage

(2) pristine

(3) attractions

(4) identity

(56) Not attempted

55. Tourism as an industry also contributes to our
country’s :
(1) agriculture and religion.
(2) education and employment.
(3) religion and statistics.
(4) population and employmeﬁt.
(5) Not attempted

57. Choose the most appropriate preposition to fill in

the blank.

She succeeded dint of perseverance and
hard work.

(1) from

(2) by

(3) to

(4) for

(5) Not attempted

58. Fill in the blank with the appropriate option
_given below.

The Battle of Waterloo was won of
Eton.

(1) on the playing fields
(2) for play fielded :
(3) in the played

(4) with the play field
(5) Not attempted

59. Pick out the correct indirect speech form of the
following sentence.

“I have bought a house,” he said.

(1) He said that he has bought a house.

(2) He said that he bought a house.

(3) He said that he would buy a house.

(4) He said that he had bought a house.

(5) Not attempted '

60. The old man is looking forward the

56. Besides the world’s oldest civilizations, India is visits of his grandchildren,
' also the world’s largest country. .
(1) in

(1) fifth fii

(2) tenth i o

(8) seventh i

(4) third (4) for
58 5) Not attempted
'—__ (6) Not attempted (5) Not attempte
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61. 61. What is the One Time Cash Award for Mahavir
geER oA ST R 2 Chakra Awardee ? '
(1) ¥ 1,00,00,000 (1) 7 1,00,00,000
(2) ¥ 4,00,00,000 (2) T 4,00,00,000
(3) % 6,00,00,000 (3) = ¥ 6,00,00,000
(4) ¥ 2,00,00,000 (4) . T 2,00,00,000
(5) ~ IO TE &1 IR (5) Not attempted
62. fa wE A ‘g o R s e & 2 62. Which city is known as the Heart of Haryana' ?
1 S ; (1) Jind ° |
(2) g (TEm) (2) Gurgaon (Gurugram)
(3) g (3) Panchkula -
(4) e (4) * Ambala
(5) I TG <A =Ed (5) Not attempted
63. &R = Uy ysf w R 2 63. ‘What is the State Bird of Haryana ?
1) ke (1) Great Egret
(2) Wit sl (3Fm =2) (2) Humming Bird
(8) wren e (3) Black Francolin
(4) W T (4) House Sparrow
(5) IaX G A1 =R | (5) Not attempted
64. EREn $ FeEyg R : 64. The climate of Haryana is :
(1) 3 warefia 7R (1) Sub-Humid Temperate type
@) iy o TEER T (2)  Sub-Tropical Dry Continental type
(3) WU NI FHER (3 Sub-Humid Sub-Tropical type
(4) TEEH TR (4) Continental type
(5) I El & AEd (5) Not attempted |
65. i s a¢ o el o R 2 65.  Where is the Blue Bird lake located in Haryana ?
| i (1) Jind
(v :gmlz (2) Fl:idabad
. @ FET (3) Karnal
hily (6) Not attempted
(5) a7 3 =mEd P
' : 66. Which district of Haryana receives the highest
66. m%ﬁmﬁaﬁmaﬂi'@?ﬁ%? i
(1), S () Ambala
@) Fea (2) Kurukshetra
@) frard (3). Bhiwani
@) feam (4) Hisar
(5) I T 31 e (6) Not attempted
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87. WTaT SET oftel Tuet el fm R 2 - 87.  Where is Baba Ladaana Tirth Sthal situated ?
B M) ' (1) Jind P b
- Ay (3) ‘Kaithal
i ) m ; G 2 . 4) Rewan
) ?m'qlﬁ%m T’ . (5) Not attempted -
: 68. When was the first permanent Lok ‘Adalat set up”
68. Mﬁmmmmﬁmﬁ‘ﬁ’ in Haryana ? . ,
(1L 107, 2005 (1) 10t May, 2005
(2) 73T, 1998 (2) 7% August, 1998
3) 1+awR, 196 ,
@ n (3) 1% November, 1966
(4) 179994, 1955 : @ g iaE
_ anuary,
5 ;
®) mﬂﬁ%ﬂﬁs'ﬁ 5 S -(5) Not attempted
69. wf@wn Yuwdt T sifufEm, 1994 & ammr X %69, -Which of ‘the Mllowing -committees is mos
' Fien Frefafas #§ @ S afify der Gﬁlf?r G| -~ appointed by the Panchayat Samiti according to
ﬁ'ﬂ?ﬁ T2 N St 7. i Chapter X of the Haryana Panchayati Raj Act,
? :
1) wm= Ry U
= p (1) General Committee
(2) wEEZF UE FHedmr affe i i g ek
and Welfare Committee
(3 fam, émqﬂm(mﬁ%z)qamaﬁlﬁﬂ‘f G : el
‘ ; (8) ' Finance, Audit and Planning Committees
(4) T = (4) Soci’al_Juétice Committee
(5) S AE &M wTEd (5) Not attempted
70. Fem I.ﬁ;ﬁq Ty gfEmn % fred % s A @ 70. Match the ancient names of the dlstncts in
Yo I1 3 Rou o3 T A A GRR e ; - 'Haryana given in Column I with their. present
S e L names in Column II : _
RRE : ‘H. Column I Column IT
I A a. TR . s ety
I Sairishaka a. Sirsa
. e b. - Fua :
S iy II. Kanoud b.  Kaithal
I fege - c. M@ b : .
: i III.  Kapisthal ¢ Panipat
Sl e 4. W IV. Panduprastha = d. Mahendragarh
.-(1) I-a; IId; III.--b; IV— (1) I-a; II-q; III-b; IV—c '
A2) - 1-d; Tl-a; III-b; IV (2) I-d; Il-a; II-b; IV—c
(3) I-¢; II-b; III-a; IV-d (8) I—c; II-b; III-a; IV-d
(4) I-b; II—; III-d; IV-a (4) I-<b; II-¢; III-d; IV-a
(5) e T T =ER (5) Not attempted
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71.

72.

frferRea et T e Hifvr :
(a) =9, amn # AT via w1 w9

(b) Wie % T E9 B FASM F AW @ off ST W

2
I A @ B-a/d T T R/E 7
(1) %ad (b) '
@) (2w () qF .
(3) (a) W (b) ¥ & 1§ 7l
(4) -S4 (a) _ P _
(5) St A& émama Sy

Mﬁmmﬂamﬁmmﬁmw .
72:

o1 ?

(1) 9 1947#

(2) =¥ 1950%H

(3) = 1974 %

(4) T§1940%H

(5) Jo Tl &1 9Ed

s —

1.

—————

Consider the following statements :*
(a) Chope is a style of shawl manufactured in"
Haryana.

' (b) This shawl style is also known as Phu]kan

Which of the statements given above is/are
correct ?

(1) Only (b)

(2) Both (a)and ®)

(8) Neither (a) or (b)

(4) Only (a)

(5) Not attempted

When was the famous Badkhal lake of Haryana
. developed ? .

(1). In 1947
(2) In 1950

(3 In1974

(4) In1940
(5) Not attempted

73. 1770§ﬁa3ﬁaa{€rm%ﬁrﬁﬁsmm '
e Rl firer 2 73. After the death of Najib-ad- Dawlah in 1770 AD,
) XA who ascended his throne ?
- (1) ' Jabit Khan Wi
@) e R (@) NajafKhan ~
@) T T S : (3) - Mahadji Scindia
5. -3 7 2 e " (4) Ahmad Shah Abdali
: (5) Not attempted
74. sftuwn F FHA T E ﬁm SR areidt ﬁ T | g ‘Which dance form of Hmm g dedlcmd "
?? " Shiva and Parvati ?
(1) = Jd (1) Lasya Dance
(@ @aﬁaﬂ (2) Ratwai Dance
(@) TR (3) . Gangor Dance *
(@) W I + (4)  Manjira Dance
(5) I T 3 e B S e " (5) Not attempted
75. :511? mﬂg;:vl wﬁmsﬁ g HEl V& S & ? 75. Where is the Chhaj ornament worn by women ’
-+ (1) Neck
(2) '™ (2) Hand
Ei; z : (3) Waist
- : (6) " Not attempted ;
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':s. sf@n anfife wdaw, 2021 — 22 % IFFur ghawn i

R e i e

79.

(3

@

Wﬁﬁﬁﬁmmﬁnaﬁwi'k
(1 22
(2 23
24
25

(4) :
IR & &A1 = TE

(5)

B # U Tymest gem wE wee fve (NBHM)
FroT Y g o o F g 2

(1) 2018 |

(2) 2019

(3) 2017

(4) 2020

(5) S TE I e

‘g1 Wi, ST i’ ST % SFwiG SHad 2022 9%
fray nfal S SET TR ?

(1) 5,569

4,806

3,560

3,216
I el AT |mEd

(3)
(4)
5)

_gﬁwnﬁﬁgamﬁmaﬁﬁ@amzom 2za$

fraft 2 2

(1) 71,17,384
(2) 72,17,283
(8) 173,07,992

(4) 68,57,609
(5) e @ 513?'

TR Teg a2 & fadha-ad 2022 - 23 # FA T
1 R wfeera fren % & § =@ ¥g fuffa R

71.

78.

79.

76.

(1)

How many.District Level Treasuries are there in
Haryana according to the Haryana Economic
Survey, 2021 - 22 ?

22
23
24
25
Not attempted

(2)
(3)
(4)
(5

National Beekeeping and Honey Mission
(NBHM) Scheme was started in which year in
Haryana ? . ’

(1) 2018

(2) 2019

3) 2017

(4) 2020

(5) Not attempted

How many villages have been associated with
‘Mhara Gaon, Jagmag Gaon’ Scheme till January
2022 ? -

(1) 5,569

(2) 4,806

(8) 3,560

(4) 8,216

(6) Not attempted

What is the total number of electricity consumers
in Haryana till 2021 - 22 ?

1) 171,17,384

(2) 172,17,283

(8)+ 73,07,992

(4) 68,57,609.

(56) Not attempted

What is the percentage of the total expenditure
allocated towards Education in Haryana State
Budget for the financial year 2022 — 23 ?

TR ?
(1) 164% (1) 16-4%
(2) 142% 2) 142%
(3) 152% (3) 152%
(4) 182% 4) 182%
- (5) Iw A = TEd : (6) Not attempted
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81. 81. In which year was SAI National Boxing Academy
g3 ? (Rohtak) inaugurated ? '
(1) 2018 (1) 2018
(2) 2016 (2) 2016
(3) 2017 (3 2017
4 2019 4) 2019
(6) I T =wA EE) Not attempted
g2. fr=foriea @ & i & R =fre N a0 & & 82. Which among the following personalities from
#2022 - “m A e wew v 2 Haryana received the Padma Shri award in 2022
1) Eﬁm Jfee  in the field of sports ?
(2) ==t gfn (1) Sumit Antil
@) I e (2) Bajrang Punia
(4) wdu fir (3) Yuvraj Singh
(5) T & .9 (4) Sandeep Singh
(5) Not attempted
83. Taend dim i sifte sfan & frg nfs ¥ gy :
wEdt 29 ! ' 83, Sportsperson Seema Punia Antil hails from
1) w@i= " which village in Haryana ?
@ aae (1) Khandra
(3) wETE (2) Khewda
i . war | 534; UKa.lihuwas
J ; ~Ujnana
(5) I A & A ©(5) Notattempted
84. 2010 F form s = g K @ﬂ AL Gﬁ 84. Which language was accorded the status of th
fe w2 '  second official language in Haryana in 2010 ?
D 7 () Urdu
(2) v (2) Punjabi
(3) e (3) Haryanvi
(4) st : (@) English
(5) o & &1 9Ead (5) Not attempted
85. 2015 ¥ ficfiw & 7 fopw i fbem #t Q TR (85, Which Haryanvi film released in 2015 receive
IR g fae g ? two National Awards ?
(1) =fg g&i (1) Chand Chakori
(2) e (2) Pagdi
(3) I W (3) Veér Ghatotkach
4) (4)  Beera Shera
(5) IR TE & =mEd (5) Not attempted
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86 ?ﬂ""“*“ﬁ?ﬂ?ﬁﬁ‘fﬁnwilm:msﬁ. Three statements are followed by three

Maﬁa@agtﬁmﬁmm@%ﬁﬂh conclusions. Take the statements to be true even
i & aiffe =1 ¥ A/ frsed fe mo ww if they seem to be at variance from the commonly

& fasherd € | known facts. Decide which of the given
FU7: FOWEIHAE | conclusions logically follow from the given
= e & statements.
TR | .
i R A Statements : Some plates are spoons.
Some bowls are plates
e () Fo<dewnd) e
All spoons are bowls.

(II) F° Ferk au= § | _
Conclusions: (I)  Some plates are bowls.
(I FoaaI <R § |
(II) Some bowls are spoons.
(ITI) Some spoons are plates.

(1) Faa 11 38R 111 Frerer €

(2) had I3 111 Frerera &
(1) Only II and III follow

(8) &t 1, 11 3 111 Frpera

ik e e
, 1l an ollow

(5) IW

T (4) Only I and II follow

(5) Not attempted

87. Fr=fafan dears Jaen 3§ y@ fag () $ @A W
FH-H g et ? 87. Which number will come in place of the question
mark (?) in the following numerical series ?

27, 216,729, _? , 3375
27,216, 729, _? , 3375

(1) 1728 _
(2) 1500 () 1338

: (2) 1500
(3) 20736 :

i i (3) 20736
S a1 : (4) 1729
By AR . (5) Not attempted
88. Freffen ¥ firs w2 Fa-a & 2 88. Find the odd term out.
5,15, 20, 24, 25 | 5, 15, 20, 24, 25
(1) 20 (1) 20
(2) 24 (2) 24
(3 25 (8 25
4) 15 3 4) 15
(5) IO @l &A1 STEd | (5) Not attempted
% &Td % féTu T / SPACE FOR ROUGH WORK
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89. ‘af faet i w1 # ‘over and above’ #I ‘da pa ta’

91.

3t ‘old and beautiful’ ) ‘sa na pa’ fvan sman 2,
A 36t e w1 H ‘and’ F frw weww foran smam ?

(1) pa
(2) ta
(3) na

(4) da
(5) IR & T =

ﬁﬂwmwma’tmﬁﬁﬂ%ﬁiﬁamw
R

(1) TUNE:ETNU
(2) MORE : ERMO
(8) PLAY:YPAL
(4) HOPE : EHPO

(5) IR @l & =

I F THIEA F NG W 100 =T A TOR AT A
SiFae faafa frr 9@ 4 | 98 Faa 70 F= |
Siraz faafta & g qifh IS 9 B 3 dihoie

sfifer e o | o ¥ R ga feat St

89.

91.

In a certain code language ‘over and above’ ig%
written as ‘da pa ta’ and ‘old and beautiful’ is
written as ‘sa na pa’. How is ‘and’ written in that
code language ?

(1) pa

2 ta

(3) na

(4) da

(5) Not attempted

Find the odd one out which is coded differently.
(1) TUNE:ETNU

(2) MORE : ERMO

(3) PLAY:YPAL

(4) HOPE : EHPO

(6) Not attempted

On &jéy’s birthday, chocolates. were to be
distributed equally among 100 children. He could
distribute to 70 children only so that each chlid
got 3 chocolates extra. How many W“lg

saane 9 chocolates were available for distribution ? E.
1 210 (1) 210 .
(2) 900 F2) %0
(3) 300 @ 300
@) 1700 (4) 700
(5) IO A& 0 9T (5) Not attempted
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 om TR g,

93,

@

95.

3

I AE T =R
U G HAoH w1 T iR s sEEr sl #
m@aﬁqmﬁﬁ@mmmmaﬁi

G NAEHTR
1 2 3 45 6

53,21,4,6
5,3,1,2, 6, 4
3,5,6,2,4,1
4) 5,31:24,6
(5) I T 3 =

@ ¥R ‘ANGLES’ #1 &4 ‘GNASEL’ ¥ &, Tﬂﬂ
YFR ‘SQUARE’ %1 day ﬁmﬂ B ?

(1) UQSARE '

(2) USQERA

UQSREA

(4) UQSERA

(5) I TEl T =R

ﬁmm‘BLUN‘I"mm'lBuh'ﬂi zd’rm
‘SHARP' &1 gay fored iﬁn ?

(1) PraHs
(2) hSaPr
(3) AhSpR
(4) HspaR
(5) . I TEl 3T AMES

XYz‘ABCQRsopMNJHI#—maw
ﬂﬂim%muﬁﬂmﬂﬁnﬁqﬁ-ﬁaﬁﬁ
drau uzE FE-91 8 ?

6V
(2)

92.

93.

94.

(1)

(@)

(3)
- (4)

. (4)

Find the odd one out.

(1) Petal - Flower

(2) Finger - Hand

(3) Brick-Wall .

(4) Auditorium - Chair
(5) Not attempted

Select the combination of numbers so that the
letters arranged accordmgly will form a
meaningful word :

GNAE H R

1 2 845 8.

53,2,1,4,6

2 5,8,1,26,4

(3 3,5,6,2,4,1

53,124,6

(5) Not attempted

‘ANGLES' is related to ‘GNASEL’ in the same

" way as ‘SQUARE’ isrelated to _? .

(1)
(2)

UQSARE
USQERA
UQSREA
UQSERA

(5) Not attempted

‘BLUNT is related to ‘lBuTn’ in/the same way as -
‘SHARP is related to 2 .

. (1) PraHs

~ hSaPr
AhSpR
HspaR
Not attempted

(2)
(3)

(5)

XYZABCQRSOPMNJHI#%123845,
Which of the following is third to the right of the

" element which is exactly in the nnddle of the

given sequence ?

M N (1) N

@ J. @ J

(3 H 8 H-

4 M 4 M _

(5) e T T @ (5) Not attempted
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97.

98.

@

* i(3)

frefifian derers fEen § X ¥ wm w 2R
wE et ? -

0,7, 26, X, 124, 215

65

62

63 .

60

I T 3 A=

I fRu T yee F aquil F W@ w6 99 S g
TR Weg F T HAC |

SUPERVISION

POISON

REVISIT

NERVOUS

RESIGN

I AE &1 =R .
I wF Tl F e § | o et =i
T W A9 9gER F Fegare § A g W
R & S 8 1 38 5 9 F amm A srawEsar @
I fFr=fefas § @ -8 ik s 2 '
1) smIRsRAF Ry fefmm®
@ om 35 RT ¥ R fe I g@ wom H
- frowdn ) '

oM I 5 T W waw srww IR IE
Tuftrcan =ag #1 ot yam wEt |

amy 38 Al @ freee 3 |

(2)
3)
(4)
(5)

(1)
(2)
3)

(5)

(3)

(4)
(5)

.100, ‘Al’ ‘B’,- 'C’, -‘D’, 04 3“1{ B '6!]'% g 1C D ﬁ E &

RIA TR TR | B IR D TR A F E |
BPEIGL | 'CFTABTR | BATGITE?

97.

- (5)

100.

. (2)
N G))

@
®

@

Which number wﬂl replace
pumerical series ?

0,7, 26, X, 124, 216

65

62

63

60

Not attempted

;}{’ in the given
(1)

(4)
(5)

Find out the word which can‘be formed by using

~the letters of the given word.

SUPERVISION
POISON
REVISIT -
NERVOUS
RESIGN

Not attempted

oy

(4)
(5)

You are the owner of a restaurant. One of your
delivery boys met with a minor accident while
rushing to deliver the food on time. He needs rest

.for 5 days. Which of the following actions you will

take ? B :
(1) You will suspend him for 5 days.

You will ask him to go on leave without pay.
for 5 days. _ _

(3)  You will give him paid leave for 5 days and
will also pay for medical expenses.

You will terminate him from the aervices..

Not attempted

(4)

A,B, ‘C, D', B’ and P are six persons. ‘C’ is
older than D'. ‘A’ is the youngest. ‘B’ and ‘D’ are
of equal age. B’ is older than ‘E'. ‘C’ is yohngel‘
than F°. Who are older than B’ ?
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(1) calkE () CandE
(20 F3lRE 2 FandE
(3) F@ﬂ_IC (3 FandC
(4) OskRD . 4) CandD
(5) I T T = () Not attempted
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